
Comments

EC No.

CAS No.

Substance 
Name

1 467541 JHCT002.01.029 handle 手柄 PP-GF30 Black 80 PASS:
ABS+PP_TUV_1160032211a 002 

2 467536 JHCT034.02.010 motor cover 电机罩 PP-K8003 332 PASS:
ABS+PP_TUV_1160032211a 002 

3 467542 JHCT011.07.001 cover plate 盖板 PP-GF30 40 PASS:
ABS+PP_TUV_1160032211a 002 

4 477015 JHCT046.02.026 junction box bottom 接线盒底 PP-GF30 60 PASS:
ABS+PP_TUV_1160032211a 002 

5 477015 JHCT046.01.033 junction box cover 接线盒盖 PP 58 PASS:
ABS+PP_TUV_1160032211a 002 

6 462930 JHCT035.01.006 fan 风叶 PA6-GF30 Black 37
PASS:
PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli PTS NB2015080110 

7 467706 JHCT033.02.048 pump head 泵头 304 590
PASS:
PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli PTS NB2015080110 

8 463928 JHCT036.01.038 diffuser plate 导流盘 PPO-GF20 Black 93 PASS:
ABS+PP_TUV_1160032211a 002 

9 467670 JHCT049.01.018 seal plate 密封盘 PP-LGF50 Black 97 PASS:
ABS+PP_TUV_1160032211a 002 

10 467706 JHCT047.01.001 dust cover 防尘盖 LDPE 4
PASS:
PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli _PTS_NB2015080110 

11 477015 JHCT055.01.042 cable clamp 电缆压块 PA6-GF30 20
PASS:
PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli _PTS_NB2015080110 

12 477015 JHCT078.02.015 screw 定制自攻螺钉 2,1 ND

13 462931 JHCT084.01.025 16uFS3  capacitor 16uFS3电容 63 PASS:
Capacitor(xuda)_CTi ECL01H023365001E/2E/3E

14 467734 JHCT024.01.001 aluminum housing 铝外壳 6063-T5 360 PASS:
motor cover(junhe)_BV_(6615)260-1199_

15 467734 JHCT025.03.015 front cover 前盖 YL102 510 PASS:
motor cover(junhe)_BV_(6615)260-1199_

16 467734 JHCT026.02.016 rear cover 后盖 YL102 95 PASS:
motor cover(junhe)_BV_(6615)260-1199_

17 477014 JHCT061.02.029 mechanical seal 机械密封 14
PASS:
mechanical seal机械密封(LIANZHONG)_BV_6615215-0703

18 467734 GB/T276 6202-2Z bearing 轴承 34
PASS:
Bearing grease海博轴承油脂 CANEC1700731412

19 467734 JHCT038.01.001 wave  washer 波形垫片 65Mn 1 PASS:
motor cover(junhe)_BV_(6615)260-1199_

20 467734 GB5780 M5×130 bolt 六角头螺栓 17 ND

21 467734 GB818 M4×8 screw 十字槽盘头螺钉 2 ND

22 467734 GB93 4 washer 标准型弹簧垫圈 0,1 ND

23 467734 GB862.2 4 washer 外锯齿锁紧垫圈 0,1 ND

24 467734 JHCT041.02.027 ground lug 接地片 H62 0,1 ND

25 467734 GB93 5 spring washer 弹簧垫圈 45 0,4 ND

26 477015 JHCT078.02.029 screw 定制自攻螺钉 20 1,3 ND

27 477015 JHCT041.02.020 lug plate 接线片 QSn6.5-0.2 2 ND

28 467734 GB/T276 6201-2Z bearing 轴承 43
PASS:
Bearing grease海博轴承油脂_CANEC1700731412

29 477015 JHCT052.01.053 cable sheath 电缆护套 EPDM 2,8
PASS:
rubber sheath橡胶护套yuanda PTS nb2015052222-2 

30 477015 JHCT051.01.277 foam seal 发泡密封条 硅胶 2 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

31 467543 JHCT032.06.006 rubber stopper 橡胶塞 EPDM Black 12 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

32 467734 JHCT059.01.001 thrower 甩水圈 NBR 2 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

33 467734 JHCT052.02.010 wire sheath 导线护套 NBR 2,4 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

34 477014 JHCT051.01.031 o ring O型圈 NBR 5 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

35 467624 JHCT051.01.026 o ring O型圈 NBR 0,6 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

36 477015 JHCT041.01.003 Nylon safety pressing 
cap 尼龙安全型压线帽 0,1

PASS:
wire connector 压线帽SGS 2016 70046 

37 477015 JHCT041.01.001 Nylon safety pressing 
cap 尼龙安全型压线帽 0,1

PASS:
wire connector 压线帽SGS 2016 70046 

38 467734 JHCT022.02.245 statot 定子 3300 PASS:
stator module_BV_(6615)260-1338

39 467734 JHCT023.41.129 rotor 转子 1055
PASS:
ROTOR转子  BV (6615)260-1309 REACH 163

40 467734 JHCT086.01.001 Yellow-green wire 黄绿线 4 PASS:
Earthing wire_BV_(6615)260-1301 

41 477015 JHCT085.01.001 Ribbon 扎带 0,3 PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli )_PTS_NB2015080110 

42 463928 JHCT009.04.191 impeller 叶轮 PPO-GF20 Black 74 PASS:
ABS+PP_TUV_1160032211a 002 

43 460151 JHCT050.03.036 diffuser  导流件 PPO-GF20 52 PASS:
ABS+PP_TUV_1160032211a 002 

44 477015 JHCT086.01.005 black wire 黑色导线 2 PASS:
internal wire _CTi_ECL03H002447001 _REACH161

45 477015 JHCT087.03.004 power line 电源线 215 PASS:
power line_(wuhu junhe ) VDE SU17001 

46 460554 JHCT079.02.004 valve cover 阀盖 PA6-GF30 70
PASS:
PA6,PA66,POM(sainuo ,jinfa,south korea modern,chaoyi 
japan baoli _PTS_NB2015080110 

47 SUPPLIER INFORMATION STATEMENT

48 460554 JHCT051.01.086 o ring O型圈 NBR丁腈橡胶 0,6 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

49 462930J GB894.1 12 check ring 轴用挡圈 65Mn 0,9 ND

50 467536J GB818 M5×16 screw 十字槽盘头螺钉 3,3 ND

51 462234(2) JHCT039.01.009 supporting leg 支撑脚 PA66-GF30 40 PASS:
ABS+PP_TUV_1160032211a 002 

52 4622614) GB/T70.1 M8×20 screw 内六角圆柱头螺钉 201 15 ND

53 462262(4) 无 spring washer 弹簧垫圈 65Mn 3 ND

54 462263(4) 无 flat washer 平垫圈 2 ND

55 467734 JHCT105.38.002 Grounding mark 接地标记 0,1 ND

If your products do NOT contain any SVHC's please complete only the part number, part name, material, color (if applicable) and weight.
If your products DO contain an SVHC the information provided must also include the substance contained and the % of that substance in the product.

SVHC Candidate list update: http://echa.europa.eu/web/guest/candidate-list-table

No AL-KO Part 
Number

JUNHE Part 
Number Part Name Chinese 

Part Name Material Color
Part 

Weight 
(g)

Substances of Very High Concern (SVHC) Data Report

Supplier Name JUNHE PUMPS HOLDING CO LTD

Signed:________________ Date:____2017-7-4____________

http://echa.europa.eu/web/guest/candidate-list-table


Comments

EC No.

CAS No.

Substance 
Name

No AL-KO Part 
Number

JUNHE Part 
Number Part Name Chinese 

Part Name Material Color
Part 

Weight 
(g)

56 467706 JHCT047.01.001 dust cover 防尘盖 LDPE 4 PASS:
ABS+PP_TUV_1160032211a 002 

57 PASS:
ABS+PP_TUV_1160032211a 002 

58 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

59 460163 JHCT014.07.028
mechanical pressure 
switch

机械压力开关 395 PASS:
Mechanical pressure switch_
BSK-3 haili CTI ECL01J008311C

60 460167 JHCT016.01.001 pressure meter 压力表 48

61 477020 JHCT020.03.056 soft metal tube 编织软管 328
PASS:
metal wire net flexible hose 
TUV 1160036051a 001

62 477020 JHCT032.04.043 seal washer 密封垫 NBR丁腈橡胶 0,4 PASS:
rubber-sealed class(tansun)_CTi_ECL03I005793001C

63 JHCT040.06.041 pressure tank 压力罐 3520

PASS:
water tank TUV 1160036564a 002

64 477000 JHCT040.02.017 support 支架 PP-GF30 267 PASS:
ABS+PP_TUV_1160032211a 002 

65 477020 JHCT066.07.022 copper joint 铜接头 H59 25 ND

66 462906 JHCT093.01.016 LK352 glue LK352胶水 3,3 PASS:
SGS GZIN1605020042PC-GZ

67 700545 GB5789 M8×12 bolt 六角头螺栓 8 ND

700150 无

68 477005 GB845 ST4.8×16 screw 十字槽盘头自攻螺钉 2,4 ND

69 462908 JHCT041.02.027 Wire connecting head 电线连接头 H62 1 PASS:
wire connector 压线帽SGS 2016 70046 

462912 JHCT079.01.003 valve cover 阀盖 PA6-GF20
462912 JHCT051.01.087 o ring O型圈 NBR

462907 JHCT040.01.002 flange plate 法兰盘 PA6-GF30
462914 JHCT019.01.019 screen plate 筛板 PA6-GF30
462913 无
462915 无
460169 JHCT040.05.001 membrane 水囊 EPDM
460175 JHCT040.03.001 foot  底脚 HDPE
700150 GB96 8 washer 垫圈
700224 GB6182 M8 locknut 防松螺母 201
477003 JHCT040.04.018 19L tank 19L罐体 ST12
460172 JHCT051.01.081 o ring O型圈 NBR
460172 JHCT015.06.001 air valve 气阀 H59
460172 GB97.1   8 washer 垫圈 201
460172 JHCT055.03.002 clamp 压块 ST12
460173 JHCT040.07.001 air valve cap 气阀盖 PE


	112846HW3000INOX

